A & 0l & A

20229 =& 3 3l JIEtSEAH A (chel: &)
2Ok 22 - IBAY - SRAAS (3 H) Ol &k o J & oA HwE2 =28
S Al 15,351,857 156,765,150 AN 413,293 N2.62%
ALY 11,899, 581 12,398,174 A 498,593 A4.02%
HWegs 3,452,276 3,366,976 85,300 2.53%
A =2S 0 0 0 0.00%
g 5,780,682 6,184,610 N 403,928 A6.53%
ootz - =2 5,780,682 6,184,610 N 403,928 N6.53%
Y =AY Hul 2,718,587 2,716,420 2,167 0.08%
PP QX (BEZFTENESEIAH) 1,868,644 1,866,477 2,167 0.12%
Y 2@ N9Ld)2 2S(Zsg2EXn 40,000 40,000 0 0.00%
AUHIISELIA)
ZEY a3 2ENH N (BEZFENL 809,943 809,943 0 0.00%
E43H)
o= 2e 2,967,430 3,468,190 A500,760 A4 44%
Ngase 2 (42T AESESA) 1,975,370 2,726,130 AT750,760 A27.54%
Neatae A(E=CAESERA) 992,060 742,060 250,000 33.69%
Heas(szaelt) 94,665 0 94,665 =3
SBHNE(HEZENLEELIA ) (BEZSE 94,665 0 94,665 =3
HES3H)
At = Xl 2,776,242 2,785,607 A9,365 A0.34%
l=dge2d 2,776,242 2,785,607 29,365 A0.34%
QI ZMEEDE 2 HASS YEHIXR 2,709, 131 2,709,131 0 0.00%
=gk MEHATZ 2L (NEBISSES 1,575,608 1,575,608 0 0.00%
A
ARS0 =2 X 22l (ASS0HSEAH) 1,133,523 1,133,523 0 0.00%
Hegs(Fasx) 67,111 76,476 A9,365 A12.25%
SHNE(ASSHELEZIAH) 67,111 76,476 29,365 N 12.25%
S ol 2=t 4,815,030 4,815,030 0 0.00%
sg-s& 4,815,030 4,815,030 0 0.00%
sEE=Es NFAY 1,524,530 1,524,530 0 0.00%
SHEASSUH XNFAML(SHLASSUHAMY 1,524,530 1,524,530 0 0.00%
Sg3IH)
Heas(satn) 3,290,500 3,290,500 0 0.00%
BENE(SHUASSUHAMESESSIH) 3,290,500 3,290,500 0 0.00%
A - SAINHL0U UK 901,700 901,700 0 0.00%

Ol L XI & XHOH & 901,700 901,700 0 0.00%
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